© Vo) ® (B
@ V5

® (\/5)2



@ V49 ® 3.14

T

@ -

o b=

100 -1



3.

4x% +Axy+9y* = (Bx+Cy)? & 1, o]
o] ¢t shd?

O 14 @ 15 ® 16



4. n=93<4 4, V2 + 14n + 49 9] &2

D 100 @ 107 ® 142 @ 158 ® 170



(Z,m>0)

— |

— |

@ 2 ® 3

D1



6. VOx+ VIS 7t 7P B 4A%57} A st 4A% 1 oty o] B
Fotolet.

Hixt+y=



o, 1- V2

o] o
=

ol 5241 $1o] Al AArE o]

\A

E

1

A -1BC 0D

-2

_.

Ul



8.

ohe 2 2e A Ao Byels?

@D 124 6V11 @ 14+ 6V11
® 14+ 6V15 @ 16 +6V15

® 18+ 6V15




ozt

5]

Aa’b+ab-a-1,a%>-ab+a-b 9 FEQJJSFE T

=
T

9.






ol

of

2 A

ok

Vi2=AvV3 < o,

3
V27

i

—+

11.



12.

Ko
=

W a<m<a+1l,b<n<b+1

k13
=

m, < << n ol

o
A
ol
NI

.

u}l [}

2 @






14.

4 La-ab+ b2 & ARAFAE e R (pa+gb)? 0l
g, p o] kS Fotolat

D ERE



5

7t o

70

m
v

At A

stejet. (2, A

:ll

o, x o] =

slet.)

SH
=

D L
=%



